Section 2.8: Book and Maplet Exercises for

 Breaking the Vigenere Cipher

Due Tuesday, April 2nd  in Class. Do Problems 1, 2, 3a, and 3b. Problem 3c can be submitted as a bonus problem.  The work for Problems 1 and 2 (p. 154 # 1 from Barr textbook and Exercises # 1, 2, and 3 from  pp.13-15 at the end of  Section 2.8 class notes)
should be handwritten on paper. Problems 3a and 3b (and 3c if you choose to do the bonus) should be submitted as a Microsoft Word file. To show your work you performed to complete each exercise using a Maplet, in Microsoft Word, copy and paste your Maplet window into your Microsoft Word page. On Microsoft Windows based machines, this can be accomplished by clicking on the Maplet Window to make it the front window and then pressing and holding the Ctrl Alt PrtSc keys in sequence (some machines require Function Alt PrtSc). This places the Maplet Window into the copy buffer. On Macintosh based machines, this is accomplished by clicking on the Maplet Window to make it the front window, pressing and holding the Command–Ctrl-Shift-4 keys in sequence, then pressing the space key, and then clicking the Maplet Window. This places the Maplet Window into the copy buffer. You then paste the Maple Window normally into a Microsoft Word Document. Hand in your handwritten problem Problems 1 and 2 (p. 154 # 1 from Barr textbook and Exercises # 1, 2, and 3 from  pp.13-15 at the end of  Section 2.8 class notes) on a  regular sheet of paper. Problems 3a and 3b (and the bonus 3c if you choose to do it) can handed in by submitting them in the Desire2Learn drop box.
1.  p. 154 # 1 from Barr textbook 


2. Exercises # 1, 2, and 3 from pp. 13-15 at the end of the Section 2.8 class notes.












 

3. On the following exercises, use the Friedman Maplet, the Kasiski Maplet, and the Vigenere cipher breaker Maplet using coset signature comparisons to determine the likely keyword length used in the Vigenere cipher to encipher the following message. Then by comparing the scrawls of each coset with the English scrawl using the Vigenere cipher breaker Maplet, determine the keyword and decipher the message.

a. 
SCZOP COIFF BKXWZ OTFZV NCSMV TVBJF VUEXR QCIPF DFBIU JBQLV GWOWK BBAWV DCKHD PJFIJ UVBRW PIDLK NFQME UVBXY JFAQF WWBEI VGPMR OWKXY FTLYI UVJSM JSXRU UVBRR OOJEK FIOME UVBPR THJSM JSQLV TSJSM JSPXL SBBHJ ZZSIJ USOWK BZISE FWKXF BKBPC LBLAE BQQSI

b. 
UZRZE GNJEN VLISE XRHLY PYEGT ESBJH JCSBP TGDYF XXBHE EIFTC CHVRK PNHWX PCTUQ TGDJH TBIPR FEMJC NHVTC FSAII IFNRE GSALH XHWZW RZXGT TVWGD HTEYX ISAGQ TCJPR SIAPT UMGZA LHXHH SOHPW CZLBR ZTCBR GHCDI QIKTO AAEFT OPYEG TENRA IALNR XLPCE PYKGP NGPRQ PIAKW XDCBZ XGPDN RWXEI FZXGJ LVOXA JTUEM BLNLQ HGPWV PEQPI AXATY ENVYJ EUEI

c. 


MBXLX TPNZG WNLTW EBZII XDBUU GMAHW GJAFF QAENB GBXVM NWGGB FVDET VRSUG MHMFQ OMUHR MGTSG BGOBB ZMISM HMFOS HRPAA VZPIG ACIFQ GJEHF WHZRN UXSVB IGIQX EXFAZ CTATA BPFSN GDACA HFRLS ENEHB RLAVQ ATXBP NJRXC QBGEE NEOMP EEIAM GNUXO BUQFS BNCWH XRMUT KMGTS MAHWN EAAVB HTANZ RWYHT PVZUD HLTIF KCOPH UTQFV YSBNM TDCOA WDCFF ZYFLS BBZSU AWSPR XZJEH DCPFC ZGAEA RMGXR ITPAQ WNUXR TRRHN ETCMO QVCAW
